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PucyHok S3. KymynaTtmBHas GyHKUMA MHUMOEHTHOCTW, OTpaxarolan KyMyNATUBHYIO BEPOATHOCTb MHTepecylolero cobbitua (cMepTu)
C TeYeHVeM BPEMEHUN MPU HaNNuUM APYrUX KOHKYPUPYIOLWMX COObITUI, paccMaTpUBaeMblX Kak MpuyMHa LeH3yprpoBaHua. Cymma Bcex
BEPOATHOCTEN B 1060 MOMEHT BPEMEHU HE MOXET NpeBbiwaTh eanHuLy. LIBK — koHBepcua cocyanctoro foctyna Ha LIBK, TI - BbiGbITHE
no NpUYMHe TpaHcnnaHTaumm noyku, NI — KoHBepcua remogmann3a Ha NepuUTOHeanbHbI AUanus.

Figure S3. Cumulative incidence function that describes the cumulative probability of an event of interest (death) occurring over time in the
presence of other competing events that are considered to be the cause of the censoring. The sum of all probabilities at any point in time
cannot exceed 1. CVC - conversion of vascular access to CVC; KT - kidney transplantation; PD — HD to PD conversion.



